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1t can be verified that this circle passes through the other limiting point as well,

PROBLEMS

L..Provz that from 2 point (a, S of the circle 2(z — a) + e@ 3
axis of z, can be drawn if a2 be greater than 82 .

2. A §:mza chord. of the circle 2%+ + N.qu +2fy+2e=0 mczﬁam a'right angle at the origin: “Show
thai the locus of :.n foot cf the perpendicular from the origin to the chord is the circle . -
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lines: E,... + E::I. S\ = 0-2s diameéter i s

" (am? st + :Nx., +P)+ 22(hm — bl) + 2y(ht - am) + a4 b =10,
Deduce n_n 8:9:2. for the lines 422 + 2hzy +by? = = 0 to be at.right angles.

4, Find. :.n o:.oE:oo_Eo of the .:m:m_a ..o_,a& by the lines 2 + y = 0, 2 — -y=0and Iz 4 my = = 1. 11
0.the conditioni2 4 m? =1, muci that-the- _85 of i its 93:3828 is Sa ns.cn

5, .w_..ocn. that the vo_mri_: R%oo. 10 the circle z2 + cu =c? on any point on the circle
(=+ n.vn +y-b)? = ai&a 8:%8 the curve (az + by+ nvu Kz 47,

a. Show :E 5« _on& o» a_n ::a&a vos_m of chords On the, n:.an z* + 4 = o® which subtend a right..
. m:m_o m» nﬁ vo:: Q. S a circle 508 centre is : ' ‘
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0, two chords, cach Disected. by the

. 3. Show, :_..: the-circle on the line B:::w the points of intersection of :5 line Iz + my = 1 with the =




